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General Instructions :

(i)

(i)

(iii)

57(B)

There are a total of 26 questions and five sections in the

question paper. All questions are compulsory.

Section A contains questions number 1 to 5, Very Short Answer
Type Questions of one mark each.
Section B contains questions number 6 to 10, Short Answer

Type-I Questions of two marks each.
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(iv) Section C contains questions number 11 to 22, Short Answer

Type-1I Questions of three marks each.

(v)  Section D contains question number 23, Value Based Question

of four marks.

(vi) Section E contains questions number 24 to 26, Long Answer
Type questions of five marks each.

(vit) There is no overall choice in the question paper, however, an
internal choice is provided in one question of two marks, one
question of three marks and all three questions of five marks.
An examinee is to attempt any one of the questions out of the

two given in the question paper with the same question number.

@ug <h

SECTION A

1. 59 UTeUl § TR Wi o S o UshH 1 I foiflgu | 1

Name the process of formation of male gametes in flowering
plants.

2. 31 T ekl I G FEY N ITAM € U6 H AT H G GE
T ¥ "igaTel T&d hl T 9T B | 1

List the two ways that have been used and resulted in Sahiwal

cows in Punjab from ancestral wild cows.
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Give an example of an organism that exhibits XO-type of sex
determination. What is this sex determination designated as ?

HATET I S & Tk o AT 75g7orr ASert fohd TR TERI & 2

How does Gambusia fish help in controlling the spread of
Malaria ?

TEYH @il T gideed Teigfaadst o1 A fofgu qem s&e fafime
% 9q13T |

Name the first discovered restriction endonuclease and state
its specific role.

G s g
SECTION B

(a) el o JANT O e g v % faw wafies stageesdn
&1 i ST |

(b) 3 dehileni o A9 TIRGT S 38 STTavehdat i Ifd H TS & |

(a) State the primary requirement to ensure cross breeding

experiments in plants.

(b) Name the techniques which help to achieve this

requirement.



7. OUR (TaEgF) 1 8 ? Gehgehl hl Th TTEH IS H FLaHICH S
i s qn swsR/a § @ e w6
ST B 2 R0 G | 9
What is a cistron ? Why is the structural gene in a

transcription unit of eukaryotes called monocistronic and that
in prokaryotes/bacteria called polycistronic ? Give reasons.

8. I-3MRe T 3Icqied BT § ? S-3URTE & HEaner fi ww oty
[SEIER 2

How is e-waste generated ? Suggest a method for disposal of
e-waste.

9. 39 gt MY o1 A ffau S Aywert 6l U TS g Wi gH
fou <ifire Fue (Fgera fedic) =1 @gm @ 2 | fafaw 6 3@ =
T rToT foh YRR W IE BT 8 | 2

Name the flowering plant which employs ‘sexual deceit’ to get
pollinated by a species of bee. Write how pollination occurs in
this flower.

10. TENIAT 91 E@Iushiitar # fave hifvw | 9reg Sd @ U
Teh 32T <IN | 2

HAYAT

Stdfd. qen wdd, w1 g am fafEe | gE % S STa s
HIT | 2

Differentiate between Commensalism and Mutualism. Give an
example of each from the plant kingdom.

OR
Expand GPP and NPP. Differentiate between the two.
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SECTION C

TEY S 0F H JIe H U JH aTell Sgeh UiR W A q JehH
fafeu |

Name and write the functions of the paired accessory glands in

human male reproductive system.

T § 3| IRt 1 AW fafae e yomw 1 fowe gt 7 |
$Heh! FEUT I Ioci@ iYL | TIRAA H YOI fohrE < TshH I
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Name the cell from which the endosperm develops in a

coconut. Mention its ploidy. Explain the process of endosperm
development in a coconut.

SaT] (SFRET) § STIerE Fishal H TREWH, STEehtor qem GHTae hi
T HIT |

Explain initiation, elongation and termination in the process of

transcription in bacteria.

g firg & & forw {6 Sh.ua.u. el uqrd 3, &Y wa =9 4 31
AT H SiamrSt W owE F fR 2 e Hife |

Why did Hershey and Chase work with bacteriophages in their
experiments to prove that DNA is the genetic material ?
Explain.

arreeforan o fRmpeait TR <6 faema <t aftget =1 9m forgest 39
ST hIfWT |

Name and explain the phenomenon of evolution exhibited by
Australian marsupials.




16. TSTH 1 UM, TEHET AAST Y1 (I 1) AHE T o e
HAd FIhRh & | STfecd sdsy | 3

Tobacco smoking, chewing or snuffing is very injurious to
health of humans. Justify.

17. UF o @@ bl el sH1s o urey SSienl 3 WEel diul § FHtiese

T 1 JITE fopam 2 | 3

List the three traits or characters that plant breeders have
tried to incorporate into crop plants.

18. difgd & WAl Iu=r § wifmifora fafys =i i e fifse | 3

Explain the different steps involved in the primary treatment
of sewage.

19. Treh Sfia sl TTHafes €9 & TU@NG H | FfFHfcTd diF Jerd =won
=l fafEu | 3

Write the three basic steps involved in genetically modifying

an organism.

20. (a) Wa-SENTER H S TAFRIBRIGE T Hew ARy |

(b) difed INUMH UTed i % fI¢ St seigermiiad o foftm =
i e HIf | 3

(a) Write the importance of gel -electrophoresis in

biotechnology.

(b) Explain the different steps carried in gel electrophoresis
to get the desired results.
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QIS €1LUA.T, o A1 GEW SETY] 1 IO RE YR BT § 2
ST HINT |

How are ‘competent’ bacteria transformed with recombinant
DNA ? Explain.

AT SHT FT g ? 39 HEAT o HIGH % (ol IATIhI IRN TohaTereh
9 § T8 TR TJehe il § ?

HAYAT

TIIeh STIHATT el 3N hdl AT & ? SRS HitT |

What is Altitude Sickness ? How does your body
physiologically adapt to overcome it ?

OR

Where and how does the Primary Succession occur ? Explain.

Qs Y
SECTION D

T THT (AgHT) | 3 Y 37Ted 3 BRI & M § | 39 TR
& Aed F A9 UT 8H 3N Heo ¥ gHg Ty | fawda gvme
gedl 8 | 39 YR BH a1 fpHl Th U h1 M, hIS o AU q
HehHUT hT dieh] SdT3T | 39k shieh Siid <1 419 Hi fafgy |

The practice of defecation in the open fields is not advised due
to many reasons. Such a practice affects human health by
causing and spreading diseases. Name a disease thus caused
with any two symptoms and mode of infection. Also name the
causative organism.
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SECTION E

JTgasish Wi ol S § b AW § | WY Fhedl At
U HIfY |

el Bl TS BA FAT hal Sl & ? FT shdl Bl I
AT Hel el ? 379 I <hl gfte | HRor ST | 3+2=5

areraT
AHal § ©ft S99 99 & 3Tdd sk H STSRRN 913l sl JuH
ST |

Yk aftld weell H IR gEAl sl iR i sme
HIT | 3+2=5

Seeds offer several advantages to angiosperms. Describe

any three such advantages.

Why is banana called a parthenocarpic fruit ? Would you
call banana a true fruit ? Give reason in support of your

answer.
OR

Describe ovarian events in the menstrual cycle of the

female reproductive system in humans.

Explain the role played by pituitary hormones during the

events described above.
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AFe o SER-AM o 3ICEO g ITadr, Hg-UdTiadr  qen

SEIAATAT sh! ST ST | 2+3=5
3T

foftm waaurfan o smuTgl & qoTcHs I1ea i faw &

JHTOT =1 H{HET ST & 2

3 T ST TTT UTET 1 T hEd 8 ST el 2
I8 59 g & faerm® o1 giomm 7, 3T 9 feiau | 5

Mention the traits in pea plants, where a single gene
product produces more than one phenotypic effect. Write
their effect in homozygous dominant and homozygous

recessive states.

Taking an example of human blood groups, explain

dominance, co-dominance and multiple allelism.
OR

How can the comparative study made of the fore limbs of
different mammals be considered an evidence for

evolution ?
What are these compared limbs called and why ?

Name the kind of evolution it is a result of.
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26. (a) SLI.A. 1 J9 G fohT TSR a1 7 2 9viF HIfS |
(b) =E@ Uit & gufee ¥ frg R &t A6 8 2 =uwe

I | 342=5
HYAT
(a) o1 &1 TRUE deg @St 3rewar (Sed) T 1 81 8 2 AR
i |
(b) uTifeufaes fRfret s wmmd s g ? 3+2=5

(a) Describe how DDT undergoes biological magnification.

(b) How does it cause a decline in bird populations ? Explain.
OR
(a) Why is the pyramid of energy always upright ? Explain.

(b) What are the limitations of ecological pyramids ?
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